
0
9_

20
24

_
ve

r.
03

SABOT
en assembly instructions for Sabot l2 small armrest table

de Montageanleitungen für Sabot l2 Tisch für Armlehne

fr Instructions de montage pour Sabot l2 table pour accoudoir

hr Upute za montažu Sabot l2 stolić za rukonaslon



assembly fittings / montagezubehör / accessoires de montage / montažni pribor

Table top
Tischpla�e
Tableau de bord
Ploča stola

Table legs
Tischbeine
Pieds de table
Noge stola

en | left or right option 
At the bo�om of the table top there are 
holes suitable for mounting on both the le� 
and right ends of the sofa composition. 
Before mounting, check which of the hole 
positions suit you.

de | linke oder rechte Option
An der Unterseite der Tischpla�e befinden 
sich Löcher, die für die Montage sowohl am 
linken als auch am rechten Teil der Komposi-
tion geeignet sind. Prüfen Sie vor der 
Montage, welche der Lochpositionen zu Ihnen 
passt.

fr | option gauche ou droite
Au bas du plateau se trouvent des trous 
adaptés au montage sur les parties gauche et 
droite de la composition. Avant le montage, 
vérifiez laquelle des positions des trous vous 
convient.

hr | lijeva ili desna opcija 
Na dnu ploče stolića nalaze se rupe koje 
odgovaraju za montažu i na lijevi i na desni dio 
kompozicije. Provjerite prije montaže koje od 
pozicija rupa vam odgovaraju. 

left / linke / gauche / lijeva right / rechte / droite / desna

m8 × 60

m8 × 40

m6 × 25 
1

1

4

3

1

left / linke / gauche / lijeva 2



3

m6 × 25 

m8 × 60

 3 × m8 × 40
en | assembling table top & leg
Connect the table leg to the base of the sofa. 
Fasten with 3 screws m8 × 40. A�er that, 
using a screw m8 × 60, fasten the leg from 
below.

de | Zusammenbau von Brett und Bein
Verbinden Sie das Tischbein mit der eingestell-
ten Basis. Mit 3 Schrauben M8 × 40 befestigen. 
Anschließend das Bein mit einer Schraube M8 
× 60 von unten befestigen.

fr | assemblage de la planche et du pied
Connectez le pied de table à la base définie. 
Fixez avec 3 vis m8 × 40. Ensuite, à l'aide d'une 
vis m8 × 60, fixez le pied par le bas.

hr | sastavljanje ploče i noge
Nogu stola spojiti na bazu garniture. Učvrstiti 
pomoću 3 vijka m8 × 40. Nakon toga, pomoću 
vijka m8 × 60 učvrstiti nogicu odozdo. 

en | assembling table top & leg
Turn the table top upside down on a so� 
surface. At the bo�om there are holes for 
connection with the leg. Fasten the table leg 
to the panel using 4 m6 × 25 pan head screws 
with washers.

de | Zusammenbau von Brett und Bein
Drehen Sie die Tischpla�e auf eine weiche 
Unterlage. An der Unterseite befinden sich 
Löcher zur Verbindung mit dem Bein. Befesti-
gen Sie das Tischbein mit 4 Linsenkopfschrau-
ben M6 × 25 und Unterlegscheiben an der 
Pla�e.

fr | assemblage de la planche et du pied
Retournez le plateau de la table sur une 
surface douce. En bas, il y a des trous pour la 
connexion avec le pied. Fixez le pied de table 
au panneau à l'aide de 4 vis à tête cylindrique 
M6 × 25 avec rondelles.

hr | sastavljanje ploče i noge
Okrenuti ploču stola naopako na mekanoj 
podlozi. Na dnu se nalaze rupe za spajanje s 
nogom. Učvrstiti nogu stola za ploču pomoću 
4 vijka lećaste glave s podloškom m6 × 25.



headquaters & production
Pustodol Začretski 19 g
49 223 Sv. Križ Začretje
Croatia, Europe

prostoria showroom chicago
222 W Merchandise Mart Plaza,
3rd Floor, Suite 381
Chicago, il 60654, us

� info@prostoria.eu
www.prostoria.eu


